2] £ e 5 E # 5 % # e ® #
AR TREMER IR AR IREMHER TR
SH6E | HH5E A | S6E | SAI5E R | S6E | SAI5E R | SM6E | SAI5E R | SF6E | HFI6E WE | HF6E | HF5E IR
B F O K 24 27 -3 23 26 -3 95.8 96.3 -0.5 103 130 -27 122 57 65 118.4 43.8 74.6
54 (ITI—) 9 9 6 10 -4 66.7 111.1 -44.4 58 50 8 55 25 30 94.8 50.0 44.8
PR A 3 4 -1 1 4 -3 333 100.0 -66.7 32 19 13 32 9 23 100.0 47.4 52.6
5 bHhX 3 1 2 2 1 1 66.7 100.0 -33.3 4 4 6 2 150.0 50.0 100.0
SHLEK 1 -1 - - 4 1 3 6 2 150.0 200.0 -50.0
SbEKX 3 4 -1 3 4 -1 100.0 100.0 18 26 -8 11 12 -1 61.1 46.2 14.9
B % m 6 5 1 6 3 3 100.0 60.0 40.0 12 43 -31 31 19 12 258.3 44.2 214.1
b= T 1 2 -2 2 -2 - 100.0 | -100.0 4 3 1 4 2 100.0 66.7 33.3
E - 1 1 - - 2 -2 2 -
£ ® W 2 1 1 3 1 2 150.0 100.0 50.0 5 6 -1 5 2 100.0 33.3 66.7
F R 0™ 1 1 1 100.0 - 100.0 1 -1 3 -3 - 300.0 | -300.0
woo®t W - - 1 3 -2 3 1 2 300.0 33.3 266.7
m R W - - 1 1
R W - - 2 1 1 1 1 50.0 50.0
s @1 ™ 1 1 1 1 100.0 - 100.0 3 2 1 9 9 300.0 300.0
b= I ) 1 -1 1 -1 - 100.0 | -100.0 2 3 -1 2 2 100.0 100.0
~ B W 1 -1 1 -1 - 100.0 | -100.0 3 -3 1 1 -
E E W 1 1 1 1 100.0 100.0 1 1 1 2 -1 100.0 200.0 | -100.0
£ fF 0wW 1 1 1 1 100.0 - 100.0 1 -1 1 -1 - 100.0 | -100.0
b= R 1 -1 1 -1 - 100.0 | -100.0 8 2 6 2 2 25.0 25.0
AN KA AT - - 1 -1 -
HMEME S AT 2 -2 2 -2 - 100.0 | -100.0 1 1
& O ER Bk |y 2 -2 2 -2 - 100.0 | -100.0 1 1 -
NNy N i) 1 -1 1 -1 - 100.0 | -100.0 1 -1 5 1 4 - 100.0 | -100.0
& JE AR # A - - - -
& M AR 8 27 A7 1 1 1 1 100.0 - 100.0 2 -2 -
P FH AR B o0 T - - 1 -1 1 -1 - 100.0 | -100.0
f FH AR 5 % HT - - 1 1 - -
EHEFEERN - - - -
AKEBAKFGHET - - 1 -1 -
A K BB 3% K ET - - - -
NS BB 2 o SR T 1 1 1 1 100.0 100.0 1 1
TH - BENE 1 1 1 1 100.0 - 100.0 3 3 -




